TR 2 1 FELEFS - FRRRAD UNFR)

EiHER
IRE % FHEER (%)
(A) EEA | EEB | EHA | mus
NILET 125 707 51.7 78.7 52.3
EmE 5086 | 709 52.5 815 55.9
eS| 1,137,808 | 69.9 50.5 78.7 54.8

KO EDDHRBMERDRSFIZZLT DIEEAH DO, TNELDS
FITOWTERSORMBAZEEE LKL, EEOFZMHBLFT—BLE
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REfEE  [EFEA: & LTA

o %4 SEE T EEE (%)
& () 2E | BIRE | KLfr |REn=
£{K 18 69.9 70.9 70.7 -0.2
E9 oL -EHKZE 1 68.0 70.5 72.0 1.5
s g o ) S % < t & 4 854 88.0 86.0 -2.0
O & 2 68.7 70.3 72.8 2.5
SEEE 12 64.2 64.3 64.9 0.6
EFEA~DORED - B8R - BE 1 68.0 70.5 72.0 1.5
Y -E<CEER 1 68.0 70.5 72.0 1.5
S D E = E<EEN 4 854 88.0 86.0 -2.0
S EEN 2 68.7 70.3 72.8 2.5
SEICOVTOME: - B2 - Bk 12 64.2 64.3 64.9 06
ZEIRA 5 80.1 82.3 824 0.1
RIEE = mEX 12 65.9 66.2 65.7 -0.5
Foaf =t 1 68.0 70.5 72.0 1.5

AEfER [EFEB: F&ELTHE

o %4 SEE T EEE (%)
Z @ (2F ERE |[KWLET |RLoE
2K 10 50.5 52.5 51.7 -0.8
E9 oL -EHKZE 5 61.3 63.5 64.2 0.7
ssm e T an ) sz =§< té: 2 145 15.0 14.4 -0.6
HEOZ & 3 56.5 59.0 55.7 -3.3
SEEE 2 59.7 61.5 63.2 1.7
EE~DBED - BN - BE 6 46.0 481 46.8 -1.3
Y -E<CEER 5 61.3 63.5 64.2 0.7
D E = E<EEN 2 145 15.0 14.4 -0.6
S EEN 3 56.5 59.0 55.7 -3.3
SEICOVTOHME: - B2 - Bk 2 59.7 615 63.2 1.7
ZEIRA 2 65.8 68.5 66.8 -1.7
RIEE = mER 2 48.7 495 51.2 1.7
Foaf = 6 46.0 48.1 46.8 -1.3




B fa R
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SEE X4 iﬂ‘%%&ﬁ FHIEEER (%)
(R £E | BlRE | XWLET |BEDE
7. 18 78.7 815 78.7 -2.8
HEEHE 9 82.8 85.8 81.2 -4.6
e 4 2 o o 4 | 2 & R TE 3 78.5 835 82.7 -0.8
FRERERORL ) 3 813 85.1 827 24
HEFEFR 3 64.2 63.2 62.9 -0.3
EHADED - B - BB 0 0.0
S DR BWEHGEEZAS 0 0.0
HECRNISOLTORR - 0B 12 77.7 79.9 777 -2.2
HEOEBISOVTOME: - BRE 6 80.8 84.7 805 -4.2
ERH 5 76.7 81.7 77.4 -43
il RE s =X mET 13 795 81.5 79.1 -2.4
ERp U= 0 0.0

SEE X4 iﬂ‘%%&ﬁ TEHIEEER (%)
& (R 2 E BHE | KIUET |REDE
7. 14 548 55.9 52.3 -3.6
HMEETE 6 55.8 57.5 545 -3.0
e 4 2 o e 4 | & R TE 6 59.9 60.9 55.3 -5.6
FRIERERORAL ) 4 56.4 573 538 35
HEBEF 4 56.8 57.5 54.4 -3.1
EHADEID - B - BB 0 0.0
S DR HWEHGEEZS 10 46.1 473 438 -35
HEOEBIZOLWTHORE - 0 4 765 774 734 40
HROEMIDONTOME - BR 0 0.0
R 2 68.9 68.8 66.0 -2.8
RER R mEX 7 63.7 64.8 60.2 -4.6
Fouf = 5 36.8 38.2 35.7 -25




